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�"(&.  !6)" 1�0)&1� (" � "�*&, 1�%&��"�!��0�)+$"((, $%���((�3 "#&(&$ 0&���$6�) * # 

��)�$(�7 4�"�*&7 0����� ! (5�)6 (�:��) ���0�3&#&'(�3 $���!(�*%$ $ )6�(�#6 0 � 1�$�2& $ 

$&1-�$&1(& 1�%&��"�!"#"%� � (��0. 1) 5 73 ("0%6-(�# - � %$�� ((,# $ # %")-3 )"%� 1 ,��3 

- � 3&1(�3 # %")&$ �� (;"%. ���"7(� D 69639, 69645), " %"��� % 3(�)��&'(& �0�!)�$�0%& - � !&�6 

1"(�7 � "�*&7. � # %�+ ��5.�� ((, #��)�$�0% � 1�0)&1� (��� -��* 06 %" -�"�%�'(��� 

5"0%�06$"((, -��16�%&$ 3&#&'(�3 - � %$�� (8 $ &(.�3 �")65,3 !6)� -��1�$� (� 1�0)&1� ((, 

� "�*&7 1�%&��"�!��0�)+$"((, 5 $�����0%"((,# (��'�3 0-��%&$ ")&4"%�'(��� �,16 5 �%��#"((,#, 

$&1-�$&1(�, �0"(%�� ("%&$ )6�(�3 ��� %" - � 3&1(�3 # %")&$ �V 5�&1(� 03 #� (;"%. ���"7(� 

D 93608, 93610): 

 

��0. 1 – �3 #" 1�%&��"�!��0�)+$"((, $%���((�3 "#&(&$ %" (��'�3 ")&4"%�'(�3 0-��%&$ 

0&���$6�) * # �:�� 5 �%��#"((,# �&(* $�3 # %")-3 )"%&$ 

9&#&'(  5$’,56$"((, 0&���$6�) *+ �:�� -��$�1�)� .),3�# 1�0)&1� ((,# 0�0% #� «CS2 

(�:��) – �-C4H9�� – ���». ; � %$�� ((, 0&���$6�) *+ $ �-!6%�)�0"(%�� ("% �")&+ 

$&1!6$"/%80, 5" %"��+ 5"�")8(�+ 03 #�+: 

 

(1) 

�-�6%�)�$�� 0-��%, ,� �-(6�) �4&)8(�� � "� (%, -��/1(6/%80, 1�  ) �%��4&)8(��� "%�#" 

�"�!�(6 0&���$6�) *+ 5 6%$�� ((,#, �' $�1(�, &(% �# 1&"%6 1, ,��� 1")& - � 3�1�%8 $ �-

!6%�)�0"(%�� (�$6 ��0)�%6 2 5 ("0%6-(�+ 77 ( �%�")&5"*&/+ �&1���0�1�# �")&+ 1� $&1-�$&1(�7 

0�)& 3. 

� 56)8%"%� 1�0)&1� ((, 3&#&'(��� 5$’,56$"((, 0&���$6�) *+ �:�� $ �-!6%�)�0"(%�� ("% 

�")&+ 1�5$�),+%8 $�5("'�%� �-%�#")8(& 6#�$� ���� 6%$�� ((, (#"�0�#")8(�� $�3&1 %" '�0%�%"): 

0-&$$&1(�. ((, �-�4H9OH : KOH : CS2 = 2 : 1 : 1; '"0 � "�*&7 10 3$.; % #- �"%6�" 0-10 °�. 

�1("� !&)8. -�$(  5$’,56$"((, 0&���$6�) *+ �:�� -��3�1�%8 5 6%$�� ((,# $&1-�$&1(�3 

3 )"%&$ 1 ,��3 - � 3&1(�3 # %")&$ 5" 03 #�+: 

 

(2) 

1  M = Cu
2+

 (4), ��
2+

 (5), Ni
2+

 (6); An = Cl
-
, NO3

-
, CH3COO

-
. 

�0%"(�$) (�, 2� �-!6%�)�0"(%�� ("% �6-�6#6(��) 4 5"5("/ $(6%�&.(8���#-) �0(�3 ���0(�-

$&1(�$(�3 - � %$�� (8 1� �-!6%�)�0"(%�� ("%6 �6-�6#6(�) 7 %" 1��0"(%�� (6 8: 

�

(3) 

�%��#"(& 0-�)6�� 3–7 /  4 �%�$(�#� 1�1"%�"#� 1� &(160%�&")8(�3 �)�$, ��(0�0% (%(�3 

#"0%�) %" 4)�%"*&�(�3 � "� (%&$ $ �&�(�'�1�!6$(&� -��#�0)�$�0%&. �"�)�$�# %"��� / % , 2� 6 

$�-"1�6 -��#�0)�$��� $-��$"1� ((, % 3(�)��&7 3&#&'(��� 5$’,56$"((, 0&���$6�) *+ �:�� $ 

�0"(%�� ("%� # %")&$, 06%%/$� -&1$�2�%80,  ��)��&'(" ! 5- �" ���0�3&#&'(�3 $���!(�*%$. 


